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大学英语B试卷
第一部分：英语知识运用（共10小题；每小题2分，满分20分）

此部分共有10个未完成的对话，针对每个对话中未完成的部分有4个选项，请你从A、B、C、D四个选项中，选出可以填入空白处的最佳选项并，用铅笔将答题卡上的相应字母涂黑。示例〔A〕〔B〕〔C〕〔D〕

1. Shall we have a get together with Tom this weekend?

                .
A. Sounds terrible.    B. Bad idea.   C. Good idea.   D. Really?

2. My friend has invited me to a weekend party at his apartment.

                 .
A. It’s my dream.   B. I never think of it.   C. It’s good luck.

D. That’s great.

3. I guess you are right. Thanks.

                 .
A. You’re welcome.   B. No, thank you.   C. Thank you all the same.

D. Thanks a lot.

4. That’s a beautiful song they are playing, isn’t it?

                   .
A. Yeah, it’s cool.    B. No, it’s cold.   C. No, it’s cool.  D. Yeah, it’s cold. 

5． Do you often go to those big concerts?

                  .
   A. No sometimes.    B. Nearly not.   C. Sometimes.   D. No often.

6. Hello, Is Cindy there?

                  .
A. No, she is out.    B. Yes, she’s out.   C. No, she’s in.   D. No, she’s busy.

7. Hilton Hotel. Can I help you?

                   .
A. Yes, you can.   B. No, you can’t.   C. Mr. Smith. Room 2003, please.

D. Yes, you can’t.

8. I’ll give her the message.

   Thanks a lot.

___________.

A. Thanks a lot.    B. Don’t mention it.   C. You mention it.  D. Thank you.

9. Hi, Mary. That’s a beautiful dress you are wearing.

                  .
A.Thank you, Tom.   B. I like you, Tom.   C. You like it, Tom.  D. The same to you.

10. I’m sorry I was late for work.

                  .
A. How come?   B. How dare?   C. How are you?  D. How often?

第二部分：阅读理解 （共20小题；每小题2分，满分40分）
此部分共有4篇短文，每篇短文后有5个问题，每个问题后有4个选项，请你从A、B、C、D四个选项中，选出可以填入空白处的最佳选项，并用铅笔将答题卡上的相应字母涂黑。示例〔A〕〔B〕〔C〕〔D〕

Passage 1
  Antique dealers have an "in" joke. If two of them come to a desert island, they say, at the end of the year both will claim they have made a million. It's a story which sums up "the trade". Objects, some precious, some whose only value is the old age, pass from hand to hand in search of home. 
    Buying an antique is always an event. Collectors, bitten by the bug, develop a selective photographic memory. Point to any cherished object they own and they can tell you when they bought it, where, form whom and for how much. They may even remember what they ate for lunch that day and whether it rained. 
    Britain is the world's biggest antique treasure store. Across the country, any day of the week, there may be several dozen auctions taking place. Even a small town will boast a couple of shops. In historic centres like Bath, the numbers may run into hundreds, not counting the stall holders packing specialists markets there, like Guinea Lane. 
    In theory, the public's best chance of coming out ahead is in the sale rooms. They may be very famous, such as Sotheby's, Christies or Phillip's or lively provincial firms like Hobbs and Bath. Bidding is rapid and the auctioneer will try and process as many as 140 lots an hour. Given the pressure and the tensions, it's more than sensible to view the items to be sold in advance, either the previous day or before the sale begins. Then is the time to decide how far you are prepared to go and not to decide in the heat of battle. 

    11. The joke is told to ____. 
       A) reveal the nature of the trade of auction
       B) play a trick on the antique dealers
       C) show that antique dealers often act against the law
       D) show that antique dealers can find antique anywhere
    12. It is NOT mentioned that antique collectors will remember ____. 
       A) the money they spent on a favorite collection item
       B) from whom they bought the item
       C) the weather of the day the deal was made
       D) the history of the item
    13. The numbers" in the third paragraph refers to the numbers of ____. 
       A) auction every day
       B) antique dealers
       C) antique shops
       D) antique collectors
    14. To make a right decision, it is suggested ____ . 
       A) to have a look at the items to be sold before the auction
       B) not to hesitate to bid at the auction
       C) to relax oneself the day before the sale begins
       D) to arrive on time and choose a good seat
    15. The atmosphere in sales room is ____. 
       A) fast-paced
       B) casual
       C) harmonious
       D) agreeable
Passage 2

The Swedes are among the most charming peoples in Europe. And their charm comes from an apparent contradiction in the national character. They are extremely conservative in social relationships; within the family and when meeting friends and business acquaintances, their conduct is governed by strict social patterns. At the same time, they are one of the most intellectually progressive people in the world. They are always open to new ideas. 
    All social occasions in Sweden are regulated by rules and traditions. And these traditions are expressed in a specific ritual (仪式) made up of formal bows, handshakes, and greetings. When a visitor enters a Swedish home, he is invariably received with a "Welcome"; when he leaves, his host will tell him "You will be welcome again". These charming phrases are an indestructible part of Swedish social life and they give it an old-world flavor of good manners. 
    Equally attractive is the Swedish acceptance of modern technological equipment. A traveller never needs to search for a telephone in Sweden: telephone booths are placed at regular intervals along the main streets and highways. And in church, for example, long benches are fitted with hearing aids for worshippers who may be hard of hearing. Swedish homes are among the best equipped in the world and travellers in Sweden find their journeys made easy by the use of the most efficient modern devices. 
16. The contradiction of the Swedes can be found in ____. 
       A) their strictness in social activities and friendliness in entertaining guests
       B) their conserved attitude towards social relationships and openness to
   initiative ideas
       C) their clearly set social patterns and enthusiasm about big parties
       D) their specific ritual and concern about good manners
    17. "Invariably" in the second paragraph can be best replaced with ___. 
       A) "often"
       B) "usually"
       C) "sometimes"
       D) "always"
    18. It cannot be inferred from the passage that the Swedes are ____. 
       A) hard-working
       B) polite
       C) considerate
       D) efficient
   19. According to the passage, the Swedish social ritual doesn’t include ____. 
       A) greetings
       B) bows
       C) handshaking
       D) embraces
    20. Which of the following statements is NOT true?
       A) People can hear the priest more clearly with the hearing aids in the church. 
       B) The Swedes' homes are among the best equipped ones in the world. 
       C) Travelers will be most satisfied when travelling in Sweden. 
       D) It's very convenient to make a call in booths in Sweden. 

Passage 3
Social change is more likely to occur in societies where there is a mixture of different kinds of people than in societies where people are similar in many ways. The simple reason for this is that there are more different ways of looking at things present in the first kind of society. There are more ideas, more disagreements in interest, and more groups and organizations with different beliefs. In addition, there is usually a greater worldly interest and greater tolerance in mixed societies. All these factors tend to promote social change by opening more areas of life to decision. In a society where people are quite similar in many ways, there are fewer occasions for people to see the need or the opportunity for change because everything seems to be the same. And although conditions may not be satisfactory, they are at least customary and undisputed. 
    Within a society, social change is also likely to occur more frequently and more readily in the material aspects of the culture than in the non-material, for example, in technology rather than in values; in what has been learned later in life rather than what was learned early; in the less basic and less emotional aspects of society than in their opposites; in the simple elements rather than in the complex ones; in form rather than in substance; and in elements that are acceptable to culture rather than in strange elements. 
    Furthermore, social change is easier if it is gradual. For example, it comes more readily on human relations on a continuous scale rather than one with sharp dichotomies (二分法). This is one reason why change has not come more quickly to black Americans as compared to other American minorities, because of the sharp difference in appearance between them and their white counterparts. 
    21. According to the passage, one of the factors that tend to promote social
       change is _____. 
       A) mutual interest
       B) different points of view
       C) more worldly people
       D) advanced technology

    22. Social change is less likely to occur in a society where people are 
       quite similar in many ways because _______. 
       A) people there are always satisfied with their living conditions
       B) people there have identical needs that can be met without much disputes
       C) people there have got accustomed to their conditions that they seldom
          think it necessary to change
       D) people there are less emotional and easy to please

    23. According to the passage, which of the following is NOT true?
       A) Social values play an important role in social change. 
       B) Social change is more likely to occur in the material aspects of society. 
       C) Social change is more likely to occur if it comes gradually. 
       D) Social change tends to meet with more difficulty in basic and emotional
         aspects of society. 
    24. The expression "greater tolerance" in Paragraph 1 refers to ______. 
       A) greater willingness to accept social change
       B) quicker adoption to changing circumstances
       C) more respect for different beliefs and behavior
       D) greater readiness to agree to different opinions and ideas

    25. The passage mainly discusses ________. 
       A) two different societies
       B) the necessity of social change
       C) different social changes
       D) certain factors that determine the ease with which social changes occur

Passage 4

For nearly a century before there was such a thing as a space program, a view of space was possible. People could see detailed views of the Moon, explore Mars, and study the geometric beauty of Saturn’s rings. All of this was made possible by a small group of artist-astronomers who made a career of illustrating how other worlds in space might look. 
    Lucien Rudaux, a French artist, was the first to combine his artistic talents with his knowledge of astronomy. His paintings show a mixture of skilled observations, brilliant imagination, and painstaking attention to detail. As a result, many of his works have come surprisingly close to actual conditions on distant planets. His painting of Mars included moonlike craters that were first photographed by the Mariner 4 Probe in 1965. His 1830 painting of a dust storm looks remarkably like a photograph of a storm taken by Orbiter 2 in 1976. 
    The artist-astronomers, including Rudaux, stimulated interest in outer space by painting what eventually turned out to be precise portraits of the planets. 
    26. What is the main idea of the passage?
       A) The amazing accuracy of space artists. 
       B) The popular success of Lucien Rudaux. . 
       C) The imaginations of great artists. 
       D) The similarities of the Moon to Mars. 
    27. For how many years have people been able to see paintings showing the
        appearance of other planets?
       A) Nearly five years. 
       B) About fifteen years. 
       C) About fifty years. 
       D) Almost a hundred years. 
    28. According to the passage, artist-astronomers spent their lives ____. 
       A) exploring the planets
       B) studying geometry
       C) creating images of space
       D) producing rockets for space travel

    29. According to the passage, the works of Lucien Rudaux represent a
        combination of ____. 
       A) astronomy and mathematics
       B) generalizations and specifics
       C) photography and illustration
       D) fact and fiction

    30. According to the passage, what did Mariner 4 photograph?
       A) A space probe. 
       B) The planet Mars. 
       C) Craters on the Moon. 
       D) Lucien Rudaux’s paintings. 
第三部分：词汇和结构 （共25小题；每小题1分，满分25分）
第一节：此小节共有15个未完成的句子，针对每个句子中未完成的部分有4个选项，请你从A、B、C、D四个选项中，选出可以填入空白处的最佳选项，并用铅笔将答题卡上的相应字母涂黑。示例〔A〕〔B〕〔C〕〔D〕
31. My father was a historian and his ____ was the history of France.
A. specialty
B subject
C discipline
D feature

32. People now have _____ that green-house effect is important to our environment. 
A. clear
B aware
C anxious
D upset

34. After the recent scandal the Government has lost all ____.

   A. faith
B influence
C feasibility
D credibility

35. Although he thought he was helping us prepare the dinner, he was only ____.
A. in the way
B on the way
C by the way
D out of the way

36. I have not even read the first chapter, ______ finished the book.
A. leave alone
B let down
C leave behind
D let alone

37.The captain ____ the horizon（地平线）for an approaching ship.

A explore
B swept
C pursued
D scanned

38. We need to make sure that we ____ our resources as fully as possible.

A exploit
B elect
C grant
D set up

39. The organization provides information on health issues to the public_____.

A at large
B on large
C in large
D of large

40. I’d like to say a word or two ____ his proposal.

A support of
B in support of
C back
D back up

41. Despite ______ difficulties, they did not find the life in London unpleasant.

A religious
B distinct
C private
D financial

42. In your report, you should give a(n) _____ description of the whole incident.

A rough
B extreme
C specialized
D detailed

43. At the age of 29, he ____ a commercial property business.

44. A set aside
B set down
C set up
D set in

45. She only ____ her son’s marriage long after the event.

A learned
B learned of
C learned with
D learned for

46. For his achievement in the medical field, the Mayor____ him a medal of merit.

A awarded
B rewarded
C paid
D repaid

第二节：此小节的短文中共有10个空白处，针对每个空白处有4个选项，请你从A、B、C、D四个选项中，选出可以填入空白处的最佳选项，并用铅笔将答题卡上的相应字母涂黑。示例〔A〕〔B〕〔C〕〔D〕

   Miss Evans   46   physics in a London school . Last month she was explaining to one of

her   47   about sound, and she decided to test them to see how successful she had been   48
She said to them, "Now, I have a sister in Washington. If I was calling her  49  , and at the same time you were 20 meters away, and listened to me from   50   of the street, who would 51   what I said earlier, my sister or you and   52 ?" The cleverest boy at once answered, "Your sister, Miss Evens. It is because electricity travels faster than   53  ."

   "That's very good," Miss Evans answered; but then one of the girls put up her hand, and Miss Evans said, "Yes, Betty?”  “I disagree," Betty said. "Your sister would hear you earlier   54 when it's eleven o'clock here, it's   55   six o'clock in Washington."

   46. A. taught               B. did            C. studied          D, learned

   47. A. students             B. pupils          C. classes           D. friends

   48. A. in her homework    B. in her housework   C. in her studies     D. in her work

   49. A. on the telephone     B. on foot           C. by               D. by bike

   50. A. another side         B. neither           C. either side        D. the other side

   51. A. listen                B. hear           C. see               D. feel

   52.A. why                 B. where          C. whose           D. whom

   53. A. waves                B. light           C. sound waves      D. wind

   54. A. but                  B. because          C. and              D. so

   55. A. always              B. really           C. about            D. only

第四部分：写作 （满分15分）
要求你在30分钟内， 根据下面所给的题目用英语写出一篇不少于80词的短文。

On Health
参考答案

Part one

1~5 CDAAC 6~10 ACBAA

Part two

11~15 ADAAA 16~20 BDADC 21~25 BCADD 26~30 ADCDB

Part three

31~35 ACBDA 36~40 DDAAB 41~45 DDCBA

46~50 ACDAD 51~55 BACBD
Part four（略）

